voar fufqwem

frias 2088-20; A-Unit (/)

S ‘coM MRR (SR (Rl WEweEly el Bl e Al

¢. i AN femem AR ki 6T
A, FTFE SFTS B. Tt s
C, an=mE it D. @& =it 5=

2, (Sl ofee gy
A. g7 + =i = g B. 4+ % =g
C. S + W = Frr D. g + =i = freif

A. (@EFCFT B. s/ 5% b, i Fomier I Tk - FEel @9 T aher
C. = A9 D. @ :

-

o, IR BINS! 2 SR /AR R R TS A Sw
¥~ 59 B (I FAOE?

B. @Fwiq

8. IR e’ B @ e
A, 8% B. @b @  C. gfew D. v

b, AR GO SR
A. B

B. @i C.’& D, sehe

B. 7@ ceifs  C, wwemE
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[s0. w1 wemwe Zomm coi <3 e Tar?
AﬂfﬁﬁWBm & WmDﬁmmm

1. "Where _ is the best place to park a car
around here?" "I'm sorry. I don't know."
A. are you suppose B. do you suppese
C. supposedly D. you suppose

T Every child must
A. acquaint to
C be acquamted mth

and respect other cultures.
B. get acquaint with
D. getting acquainted with

3. [Industrialization has been responsible for
most radical of the environmmental changes
caused by humans.

A.a B thc C some ufwhlch D Whlch are_

4. In many areas the slope and topography of the
land ___ excessive rainfall to run off into a
natural outlet.

A. neither permit
C. nor permitting

B. without permitting
D do not permu

5. They thought that he was guilty _ racial

discrimination.

A.in B. with C.of D. for

s -fb-o.tball matches on TV?
B. to watch
D. for watching

6. Do you enjoy
A. watching
C. having watched

7.

| Mind

011e of the ma_]or

| Finish

Consider
F Ejve

.| Postpone

oad shedding.
B. problems is
D. problem is

A. problems are
C. problem be

8.

Y:nn had better harder, or yuu wﬂl fall the test.
A, studied B. to study
D. be studyin

C. stud:

C. indolent

Thc antonym of "industrious' is __.
A, stupid B. harsh
D. undecided

10. The marriage ceremeny
going to the feast.
A. was over

C. has been over

the guests were

B. as over
D. being over

____ heavy rainfall, there were more than fifty
thousand fans at the football game .
A. Despite with B. ins spite with
C. Despite of D. Despite
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12. The outdoor concert was ___ due to bad weather. o A 4] + 4k @ Q gt 2}+ 2k @B firgrer

A. called off B. calledin C. called at D. called on
S G : Hfefke g 20w, ey cvaw e
v . : Ac6id Bt — €y

b i )

13. We a tesf wheh ihe lights weﬁt out.
A. were doing B. have done C. arc doing D. do

14. The book ___is not in the library.

A. that Ineed it B. Ineedit
C. which I need it D. I'need

Ans ;D
15. "Modern printing equipment quickly turns out
duplicate copies of textual and pictorial matter".
Which of the following words best fits the
underlined word?
A, identical B, excessive C

illustrated D, legible

3. a3 NEEE ST TR 9T wiEer e e
gFF Fifb?

AN BJoulem®’ CJoulem’ D.Nm' | e e e e e 100 |y e
: AHAY TE7
A 0.02cm B.0.02m C.0.02mm D. 0.02 km

q. 1 Bohr TS T 57

2 - = A, 9.27 x 1072 Am?* B. 9.27 x 10%*Am?”
2. 1500 kg =3 @3 46 B G =ww S A Ty Dy
. D.9.27 x 107°AM
&*F (6 1000 N 371 farat 96 | 1w g7 5797 = —
A. 0.87 Nrkg B. 0.76 N/kg

C. 0.67 N/kg D. 0.96 N/kg




e - Hesis iy

v 20, 40 @32 80 @ ToEh SR TNfeam Wi
FAN T | SIHA T (A TSP

A.0880 B. 1410 C.241Q D.1140Q

5, Gl wIR @1 0.3 ¢ T <3 SYIPIE ©F 3% FS?
 A.0020 B.0.048 C.0.004 D, 0460

30, TG SIRACGE TS FHE?

2
R m,c e
h h
2
G by By Lo
muc mn1

58, Wt ST § WA A ST x W IO T (i e
A. 5:2)_“><x B. §=2xx

4 g ey o s

A. TZZTEJE B: = ! \/E
k . 2rV k

g
C.Tzzﬂ\’E Pt e
m.‘

“on

Ans

S, FHSH SHtET G (FMB?
A. Ns*m™> B. Nsm™
C_. Nsm“_ _ D. Ns’m™

5?1'. éﬁ'évaCﬁvmmDCﬁvmﬁmvmr
AL BT B. e
C. wrifasE D. (eFiEEE

s T

S, G3 TEREER B9 SRS 1.5 x 10 'm 7™, @3
S FE?

A. 4.42 % 10 kgms™"
C. 442 x 107 kgms™'

B, 4.42 x 107 kgms™'
D. 4.42 x 107 kgms™

L Ans ;AL
3. 6 kg 53 RFE w3 i x = 0.26 — 0.02¢ @ PR
S 27 | SR 4 IS @ T GAI FOIT FO7
A 1.1231] B.2.6428 ]
C.2.1324] D. 1.22887




TP TG T FA | (FR B GBI (I A 62

. 2
K 7as B el i S
25r 2r 2r

g
TR G W - G Y TS FOF T
A 20 gt M Eae otk P,
dmeyr  4Ane, 1’ dne,t

FE | Q Y TOEE WU NP5 @ ¢ T AE W
A Rpfe ¥

A w-D¢ Hume c‘gm D.2¢

5. X PO 4T o A | B 0 T
T ARG
A, ifea frere B. sw@er ferst
C. Tym@e wefes o5 D. ZErErReE sfroast 75

3¢, (I TRGNTS AR B0 7 @0 s s &1 e
A. TS FFEAEA
C. R
D. QeTeT FITIABTS 2 @b A Faus @

490 o’ “fece 10 om’ 1.0M HCI <3 &3 Gt =41
= | fiee pH 992
A. 0.0

G LY

n=

A2
C.18

R

P

2019-2020 (57)

1 g oifice Fofd Wy iRy
A. 3.346 x 10*

C. 2.989 x 10*

B. 6.023 x 107

i T capre
= 1 Boars S SFERGY 4Fre ~?




_|| R it o

8, Ao TR (H,N-CO-NH,) B 2 S{ome w2
A. CHy B. NH;
C.CO D. CH;—CONH;

¢, G T T TG S ST TR S P

A ST ¢ wigs wHNET B, @ 59 @ 31 Siem@ET

C. # ¥y Stean D. =if&s ita

b,
A molclm_ B ppm C. kJmol™ D. molality

I S G T

st ik

| @e | 1 | 1hwe |[M | mol! | o w
4 (3 mole '

MxV(L)

e | 1000 m molkg™ = W x1000
1 M) mole | gmARS

MxW(g)
| wED | lgm | lite | N molm™ | y= W
1 (N) ¥ EV
: il N=8xe
: [e =70 7e]
| ppm legm | 10% ppm ppm= 1000 SM
9, @EFaEegR (CiH—CHO) "n—electron" Fafbs

AT B. 8 _Co6ir | 1D 1Y

b.

SrCOx it ﬁi’t’m?ﬁm e

Sr | o/ W e

Be, Mg, Zn, Ni, Co, Al o<1 */978 24 (a2 =1 |

A. CO B.C_

T oS Cac T 11T T <R
C.CH, D.CO

A.NaCl _B.NaOH

C. NagCO_q D'.




[33. Rz o b " 1 B o o | R W S FROTSRE | 3¢, (D OOT e il
A. FTHT TEqW B. 759 Te9%
Cwmﬁwww ____D. 3w AeIm

e

y9, CFAMD 2° SETEE?
A. RCH,OH
C. R;COH

B. R,CHOH
D. RCH,CH,OH

38, WREGITEH “RANCS ofb RUETe TG R | FEa PR
/5wt @fb et w9 I
A, =iEreants afrsaei Fife B, SiewdiE Jife
C. ifeferg 9o e D. 21%3 79

2019-2020 (59)

s, NaCl #ifire yags 2@ @ fefs siteat ame

A, NaOH + HCI B.H +OH

C. Na' (H,0) + CI” (H;0) D. Na()CHH2

A ﬁmﬁa = pﬁ o Wm
2T =i 4 A
A 6.8 B. 5.8

(.03 D.3.6

So. @B AAF A GAgS S (DO) @& T 2.0 mgl |
SIS T FAR A R @ Sy v @i (T A e
A, ST B. 4=+ C. 9@ TrE D, werg 4=

7S

1. pH

2. DO

3. BOD

4.COD

5. TDS

6. @7st: Ca®
Mg}t—

7. NaCl

6.0 ppm (af mgL ™)
10.0 ppm (=t mgL™)
500 ppm

100 ppm

150 ppm

500 ppm
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[55. IUPAC &7 (CH,);CCl @ s 71w 3t
A, Brafmits [E5iEn @aEe
B. 2-Fital, 2-feids cemem
C. 2, 2-wEfaeEe-2-@aiEey
2.2, giﬁﬁm-z icai-fias
% 7

st ) e g
Q0. FIF AN W KMnO, 97 wine Rz 3@ a0
A. CH,=CH, B. CH=CH

TR
B. fsie was

3. s HCl's S forew GPar®s (ZnCly) o
A, 5 Reme

e Sie @ I

A.molLs™ B. molL's”

9,

= g,

Rfiwt eqlii::ieml G
g x=kt H _;_k m%jﬁ molL 8™
;: k= %]n af = t % =-£}-'-?E m%n. 5—1(-1-’-me)_|
| k= %a(ax_x) ‘% s "ki TK?";E]T Lmol™'s™

38. 25°C v 100 mL &t 5.85 g NaCl gigs
itz | gifba crenff wer
A.05M B.1M

C.585MD. 10 M
= Too - -

2¢, TS SIEe Treaw RE e FEe
A. HCHO B. CH;~CHO
C. Ph-CHO D. CH;—CO-CH;

5. M={0,1} $RN={0,2} =1 M UN &M — N @
T -

A. {0,1,2} @ {1}

C. 11,2} @ae {1}

3 ISR et 87 «F e R IRy
A. 1010111 B. 1010101 C. 1110111 D. 11001
£ e 110111 D«

11

o. log4 ¢ log 16«7 75 77

A.logl0 B.log8 C.log 6
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So. 2+ /31y RS Rars sl s
A X +4x+13=0 B.x*-4x+13=0
C.x*—4x+7=0 D.x*+4x-7=0

r+2mﬁ r F TH F67
A 10 B. 12 C. 8 D. 360

2 1 cos@
& P TmP="
cosf 1

A. cos’@ B. sin’ C.£sin® D.+cosB

3, Jxe"‘dx =

A —xe*—-¢"+k B.xe*+e* +k
C.xe’+k Biixe etk

30, 1+2+3+.....+n=55%01 n & X 07
A 10 B. 15 C. 20 D. 11

A ¢ B.e* 58 -;-cz" D. 2e*

38. f(x) = 2x— 16 g(x) = x’— 1 @ f(g(2)) @ THFo?
A6 B. 4 C.5 D.7

l‘l,_s‘s__ SRS S
3 3x — Ty + 2 = 0 TREEE e oW wme (1, 2) Rt
- - - E G AR A7
5, %(Lnsinx)=? A3x+Ty-13=0  B.7x+3y—13=0

C.Tx+3y+13=0 D 7x - 3y=15=0
o S e

A.cosecx B.tanx C.sécx Dicotx




36, 3x% + 6y = 8 IB @4 ewififes fvx @
A B. #4qE

C.9fge D. BJe

sa. 9 TN 4B W © 5P T T W | A T R
e 3% T SO et S 9 2R RIS 992

K2 B. . 2. g L

42 3 21 7

S, 4% + 4y’ — 8x — 16y + 19 = 0 T (Fewa YIS F7
A (2,1) B.(2,4)
C.(L.2) D.(4,2)

i

1500 m &= <36 77 7517 5 km/hr (% 2R TR |
§FEH ASF To[ 6 km/hr @0 FOR @06 JeT IS
A AR AlH O AHE?
A. 10 min

C. 45 sec

Y

B. 15 min
D. 27 min

5. |2x_7|=5mx«nnﬁ=m?
AT hen B.
C.24 D

20. cosl5° 97 T @FFG?

2=t V341
a7 b
A3 Bt
e 22 >t 212

23, tan_1%+ tan -lii 99 T Fo9

3
i3
!

>
w|a
o=}

38, y=2x" +4dx + 17 g# y &3 F{Ag TF Fo2
A. 15 B. -1 i 18 502

a
2. I(_Zx 1 3)dx = 2% a €& A IS?
)]
e
€2,-1

Bi=2,1
Bt




S YITSE (I S UF (40 Bl T2
A. arsTor] B. creitfasn
L e R ]

s afffomnz @ et e o
>, QA GFTERTE S €9 gy ATy, b,
AETE, 7Y, T, 9T I 428 Wi |

3. (51 @ T |

I EERCIEE G

8. VITeq AICHETE NS o |

¢, e FASE ¢ fag o |

>. SR (o : G 6 SR @e B | ||
2. ©fif, e SR e R agwe |
AT (B |

o, FEETOE, TF AWETS ‘@ APFOT |

8, (HbA-TieererEs S |

¢. coNfEmiem qfRewa

3. (MBI w9sas |

2. “FEE ¢ wrEa dfemg |

o, PO, UBIWAT ¢ YA 2ffE, 7P ¢
ST |

8. NPT T (FATg FATE) |

¢. (TO-TTOLE g W (FYHE FHG) |

B. =2w

A. (&t T

siet ey

A. Treponema
C. Plasmodium

B. Neisseria
D. Vibrio

¥. (@ In situ conservation <7 9=1F! &
A, TSR]

C, fe= s

B. wrer Swyiw
D. wtifa s
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so. fooin TR “wfS 49T TR @
A, RegREH
C. &t

B. (@ReN-2FE
D. =y

55, 2% GO GG Sent
‘ A. Poaceae
C. Orchidaceae

D. Asteraceae

B. Lamiaceae

3, FEG et Siewy
A. Brassica napus
C. Pisum sativium

e

B. Euphorbia hirta
D. Corypha taliera

! A AE A LT ;
¢ > 1 Psilotum AT | 4, SpaeE |
| TR | triguetrum S YFE i
[ ®few 2 | Tectaria Qi bRy
chattagramica
3 | Cyeas pectinata o] BRI,
AAiea AEe
wgz—f[ 2 | Podocarpus TH it =%
nerifolia
© | Gretum el ¢ | HBAm, _
funiculare FFEAEE, s |
> t Aldrovanda v, | A, e |
vesiculosa (St | TOFEE ;
2 | Aquillaria T “heifeat 79- E
agallocha (=) eI i S
‘ o | Corypha taliera = B
é (wtfrsim) wreE | eRwEE
| | e
8 | Knema bengalensis | % RS-
| S | (o 7T FarET
Basi (afw) |
ﬁ ¢ | Licuala peltata T BB, T |
() wem | g, e |
W
¥ | Rotala Tone BTy
simpliciuscula wrety | (arshs)
(@) Tfew
: 9| Rosa involucrata | &=, | (00 @1
J (@ =) @] 6%

A, &t
C. Fritrs

b

2,

s Aite?
A, TS B. (GEs
C. SyIs D. (GreEs

e

R e
BT e 4 zHe
AL TERE
C. J@Ts

B. &g

C. el

Yo, OB A S CTEeT T TERY
A. v 3=
C. FEaEE e

B. F1E1 2feg
D. BleemE et




BRI ﬁ"ﬂ'ﬁﬂﬁﬂ

A?ﬂi‘ﬂTﬂ B.wi%ags  C. PR3 D. Bfemm

T : PIpR0T A8 MUTER 164 SK SAIZS | CAied T
ﬁﬁ%ﬁﬁ#ﬂﬁﬁ@ﬂﬂﬁwﬁmﬂa{mﬁlﬁ
m?qmwmmwﬁﬂa mﬂ@ﬁﬁﬁf mﬁmwwﬂaw

afi#:aqmaf?q(t’rmpaw{aste: Gland)wgl
e C e
%0, Annelida @3 ﬁﬂr"{“ﬁ @I‘!ﬁ"?

A. T dfy B, WiiBaE afg
C. wEffemm wifs D, efeat
; g G5 % :
Platyhelminthes | @51 @ f4it = (Flame Cell) |
Annelida (3BfeT (nephridia)
| Arthropoda STAAGE e, SHE, YT |
: =1 i afg | z
Echinodermata | (F57e% (73 |
Ans: D.
3. 2% SR e e
A. Lungfish B. Ascaris

C. Branchiostoma D. Bat
|ABST.C. e : e i |
R, (@D Nig T2

A. foff B. %3 C. ghw D. Fe=1
Tt o PP 2ige were Sl q@i A1 wertes Al
e | fofit e =, oe G & :

amammmmmlﬁﬁﬁm
Ans A e
9, DNAW@W«W@W?

A. RNA @@ DNA 7= B. DNA 2@ DNA Hepsfset

C D\JAramRNszc:m D. RNA@@RNAW‘T
T - : =
DNAWDNAwm R
DNA zrs RNM@W,MW|
mRNAmDNAmWMW :
RNA zws. DNA@W %ﬁ@ﬁiﬁﬁsﬂ@a Ha
Ans:B. s
38, mmwﬁwﬂ?

A, IR B. ¢ crEE

C. freigm D. @AE5
o (@ 5 A1 TCA wRefimm mifiwefen
wmwmmmwmﬁmmr
Ans AL :
3¢, TomEE 7 e 3 e T

A. A B. g4 C. 9w D. 5R&tE]
YT : AR TUIED SO Targe SRl WY
Wﬂﬁ%ﬁ'ﬁﬂﬁﬂﬁ‘??%@ﬁﬁﬂ!mm
27 ¢o ZEe o s | @y mw i, ﬁﬁr@
af, e e, @ﬁﬁmmﬁwm: T
e e

g 2038-20; A-Unit (R=)

. B ¢ TH CAH T T WA U R g

2 #ﬁﬁiﬂmmmm%

A, Trarmnd wpe B. SoeTs] A

C. TFEI a D. 9 7
L ﬁﬁm#ﬁ%ﬂ#wﬁvvvﬁﬁgw

c@mﬁﬁﬁm I

Dwﬁ*ﬂwm

w TR e o E g PR Ow:

» TAHAY ST dﬁﬁiﬁ Shrb. (BT @\w msm#m
-W@Tm :

tﬁﬁﬁﬁﬂﬁ“@ﬁ@!{tﬁﬂ‘iﬁ*ﬂwmmt

; W@Tﬁw ’éﬂiﬁf&m_l Con L




A. IFT5T BB B. #3@iY o139
C. T Iear=iiam D. fgfogad umpieiim

T e Sy SR

€ ‘ST OB Wi PO R Y (T W R -
e A BfEh w?
A SR @
C. G=FE

B. ZRgfp
D. FamE

A, =g SewElEiE
C. 2AFA- CATE

B. e AT
D. e e

Q. e B AR - I A 9 2y
A, = B. =784
C.am D, e

o, m {91 ?Fl‘ﬁ m? i
A, S W T BEE B AIeEE 90
C. 9 A= D. 7O *% 5a

1. By the time we get to the airport, the plane will
have

A. taken out
C. taken in

B. taken off
D. taken of

2. The adjective of the word “heart” is
A, hurt B. heartening
C. hearten D. heartfully
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3. Heaskedme _ sheep were there in the field.

A. how many B. what a lot of

C what great number of D. how much

: Sheep @% singular 9% plural 9% form @32 |

Sh&ep ‘countable noun €Rg @ plural ° Wi
TR | P]urai countable noun @ I TS < question:
A ‘many =g uncountable noun = How
much Q!I ) w m’fm gap “ How many'wrm I
AnstA. - :
4, You should not run

~deht;

A in B. into C.to D. with
i : e Run into debt — 49 zew | e '
fegowgyf Phrase:
'ASﬂIngh o ---Ata:mslcﬁgﬂa ﬁaﬁﬁm
e At aloss Wiﬁ . e Allin- =
OGcSA&ong.'ﬂTﬁMb‘ﬂ! -Forgmd ﬁ-?t—ra‘

Ans: B, - :
5. New words are constantly bemg mvented
objects and concepts.
A. to describe B. a description of
C. they describe D. describe
[t To describe—ﬁ‘fﬁmlamﬁsﬂm

new

e | ﬂ‘ff@"ﬂ‘fﬂ!w ?ﬁﬂﬁs *todcscnbe' mi

Ans:A, :

6. “Of the thousands of known \olcanoes in the
world, the overwhelming majority are
dormant”. Which of the following words best fits
the underlined word?

A. unpredictable B. minor C macﬁvc D uncharted

BRI oDonnant—’liﬁl Eiaie -

Dormant mﬁ’g Syn nym @I A om’m'
Synonym : Asleep, Inactive, Inert, Latent, Dozmg
Antonym : Active, Awake, Lwely A}ert Wakeﬁllz
Ans: C. ;

7. The antonym of the word ‘trugal’ is

My sister had lived in France for two years and

my niece there.
A. borned B. born
C. was bormed D. was bormn

[T - mma%wmwbmmaaﬁmw
w@mﬁmmﬁﬁpassmﬁmﬂ ;

Example : Iwasborn: =~ = =

Wﬁw my niece: was bomml

10. Let’s goon a plcmc, ____?
A shall we B. won't you
C.isn’tit D. did we

[ Tag question @ let’s ﬁmsm HRTS shzdl we m
tag qucstmumw B

anmple Let’s go the beach, shall we?

’Nﬁiﬁ’f@ﬁ Le 'S ¢ o on a pu:mc shall we"

Ans_ A :

11. 1 don ’t know where

S0 earlw in the mornmg
A. could he go B. could he have gone
C. he could have gone D. did he go
et : @ Embedded question @@ Example, Embedded
question « wh word €#°R sub + verb (base) ¥ | ,
Structure : Sub + verb + w word + sub + verb (ba.ss) ..... :
Example : [ know who he is.
wEmerE, | don't know where he cmﬂd have gone S0
carly in the mommg ‘

A ve. ;
12. “You are welcome to order “the goods now.’
“But payment should be made 5

A. for advance B. advancing
C. to advance D m advancc

[N - -Inadvama S :
@3 payment “5@11 oSl \ﬂtﬂfm advam:e AN
g g phra@g = f.? e .
¢ Fresh blood - E . le:m W’ﬁ?ﬂaw
o Maiden speech - MWGF ‘» Kith and kin - Wﬁh}

C will have come D. would come
: W@ 9o® clause future indefinite: EEEﬁ e
-'clauseﬁpn_mot mdeﬁmtcmﬂmss S

marker) + sub * vcrb (prescnt) & Ob_l

Example : I will goifhe comes.

SR, He will cxpiam 1t to you when he comes brack.
Ans : A,

A. economical B. spendlhrlﬁ o Make good W@”{s’ﬂ‘f e Out and out Wﬁﬁ'ﬁm
C. meticulous D. economic AnsiD.
Tt : Frugal ~fegfie 13. “It is not very cold I don t think we need these
Frugal €3 g Synonym em;\ntonym i o big jackets.” “I don’t think so s
‘Synonym : Canny, Careful, Meticulous, Stingy, Thrifty. A, anyway B. neither
Antonym Spendtbnit. Laws.b Prochgal Incalmuus C. either D. too
Ans:B. Tt : 9 NugatiVe agreementa‘{]:xample .
8. He will explam 1t to you when he hack Structure = ] :
A. comes B.came [sub + neganve du.xllw.ry or be + ellher ]

: Mgm‘eﬁm | neither + positive auxiliary.or be + sub | |
Example : He doesn’t like cake and I don’t either. -
Ssaone, [ don’t think we need these blg ;ac.k.ct.s L
don’t think so either 29 ¢

Ans: C. '




14. Total color blindness, , is the result of a

(851

defect in the retina.
A. arare condition that  B. that a rare condition

§ a rare condition D. a rare condition

15 If I knew the answer, tell you.

A.1can B. 1 had

. 1d 4o D.T'Il

o

& SGHIT T A 4T AV FEA?
A oy ot B. FE5H

€. o Afofmm e e e s @b,
A. dT = QdS B.dS=QdT
C.d05 SdT D dQ =TdS

A fergm s gifae e
B. forsm wigsterg wierenfe fFeq sidss argm
C. n-=ef e R4 TCE

D. feterm sigere tafes e aher

9.

& o0 a FE ¢ E b =g wwer efve ife ssims
wm|mmﬂmgmmM#W?

a
e
¥rs

b, @36 W F =4m,p=2Nsec ¥R T € p & Y T
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